NUMBER SYSTEM | PART-9

SSC,CDS

553+ 378859 + 4768 + 59379

ind remain-

25

der/ I AT —
(A)9 (B) 11
7 (D) 15
T3+75+78+57+197

34 =R{)
(A) 32 (B) 4
(C) 4 (D) 28
158 x68 x197 x 819

x >1<1 x Find remainder/Sia%a
AT —
(A) 2 (B) 4
(€)0 D)3
1548 x1551x 1552 x 1554 .
17 emainder = 7

FORe Fanet ?
(A) S (B) 16
(C)15 (D) 4

132 x135x136x138 x142
137

Find remainder/

e Tl —
(A)81 (B) 90
(C) 84 (D) 87
816 x 817 x 823 x 827 Find remainder /fTe
189
AT —
(4) 195 (B) 197
(C) 192 (D) 199
9367 x8641x2009x571571x3114 [
Find
315
remainder/Aw FA —
(A) 242 (B) 252
(C) 267 (D) 262
Find Remainder
TTFA Faisil ?
73 XT5X78x57%x197
34 B

10.

11.

12,

13.

14.

15.

(A) 22
(C) 30

(B) 30
(D) 28

Find tanth digit 13799x96=996
TETE T o AasT 7

(A)3 (B) 4
(€) 5 (D)8
Find tanth digit 596x17394x15353%206%x427
{A) 1 (B) 2
(€) 3 (D)5
Find Remainder ! ?
RE LTl )
(A 1 (B) 2
(€) 8 D)6
(32? Find remainder /3 saieit —
(A) 25 {B)1
(C) 4 (D) 26
Find Remainder - =
400

TFeT ST ?
(A)1 (B)6
(C) 2 (D)3
471" Find Remainder = ?

118
TR FarE ?
(A) 117 (B) 105
(C) 1 (D) 116
Find Remainder -
MEETG R I
(A) 53 (B) 1
(C) 2 (D) 27
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Mother's » Number System (Part-9)

16.

17.

18.

19.

20.

21.

22,

23.

24,

Son

Find Remainder

500

T gaiei
(A) 1 (B) 499
(C) 498 (D) 125
Find Remainder 1277 =7
(A) 6 (B)1
(C) 5 (D) 11
Find Remainder 45137
T gaiei
(A) 1 (B) 2
(C) 143 (D) O
Find Remainder
T gaiei
(A) 1 (B) 2
(C) 12 (D) 11
F. d R ‘d 5514’16 -

111 emaider 12 =
T gaiei
(A) 1 (B) 2
(C) 11 (D) 10

: 1137
Find Remaider =7

a7

WTF AT ?
(A) 96 (B) 96
(€) 2 (D) 1

1l

T3 Find remainder /¥TFd st —

(A) 40 (B) 47

(C) 50 (D) 76

% Find remainder /¥ swisi —
(A) 4 (B) 5

(C) 142 (Dy1

162;0 Find remainder /3 saieit —

(A) 5 (B) 6

Q)7 (D)8

25.

26.

27.

28.

29,

30.

31.

32.

33.

. QIOl'J

Find remainder/STa e ol
(A)O (B) 100
(C) 99 (D) 1

421

acg Find remainder /WTFa T —
(A)7 (B) 8
(C) 860 (D) 1

21163

o4 Find remainder I srarsit —
(A) 20 (B)0
1 (D) 21

— Find Remainder/ SIT%e adisii—
[CDS 2020 _II Paper]
(A)1 (B)2
{16 (D) 17
5660

1 1 =7
Find Remaider — :
FIEC SIS 7
(A) 76 (B) 1
(C)70 (D) 12
Find remainder /¥T%a smisi —
i1

323
(A) 1 (B)2
(C)322 (D) 321
Find remainder/¥T%a smisi —
2106'2

221
(A) 220 (B) 219
€1 (D) 2

33389 + 09389
=2 "°?  Pind Remainder = ?

36
FORe Fanet ?
(A) O B)2
(€)1 (D) 34

Find remainder/¥T%a smisi —

20420 +20% +......... 20
6

(A)3 (B) 2

€)1 (D)0
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Mother's * Number System (Part-9)

35.

37.

38.

39.

40.

41.

Find Remainder—

YRS adIs—
97 1 9oM0 L 999" L 9999™ 1 1000 times
8
(A)0 (B)1
Q7 D)6
Find remainder /3 saieit —
T T+ TT7 4 e (777 ocn 49 digit)*
9
(A)3 (B) 2
()4 (D)8
109
Find Reaminder 109 =7
110
IR Al ?
(A) 1 (B) 108
(C) 109 (D) 2
|_1 . |_2 +| 34 |1 oo
12
Find Remainder/ IFd daisti 7 [CDS 2015]
(A)6 (B) 5
(<)o D)7
M - =
?Find remainder/TH%Re] FaST —
(A) 16 (B) 15
€)1 (D)8
Find the remainder when 39! is divided by 41
ElRk Tl BIEE) 391
41

(A) 1 (B) 40
(C) 39 (D) 10
[L0O-10
TFind remainder /WTHE IR —
(A) 50 (B) 100
(€)1 (D) 90

424344

40! Find remainder /Sret sl —
6

(A) 4 (B)3
€6 (D)o

42,

43,

44,

45.

46.

47.

48.

, , [32]"
Find Remainder =— -

e Tt 7
(A) 4 (B) 3
()5 (D)2

If (x + Tyand (x - 1) are the factors of polynomial ax®
+bhx? + 3x + 3, then the value of aand b.

A (x + 1) T (x - 1) TGIT ax” + bx? + 3x + 5 F oGS
%, 79 a ST b A wwe |

(Aa=-2,b=-3 (Bya=3,b=5
(Cra=2,b=2 (D)a=-3,b=-5

When x* 4552 + 10k is divided by (3 + 2) Lhe remain-
der obtained is 2x then the value of k.

X3+ 5x2+ 10k &l (x? + 2) § Fowifom %0 o =g 90Ra

2x T, T k = A ol |
(A)-2 (B)-1
()1 (D)2

Which of the following does not complete divide by
297 + 17%.

T & o At ' 2097 + 177 # o it T8t
A |

(A)2 B)11

23 (D)Y46

Which of the [ollowing x* - a® is complele divide by
(x-a)

TTeTEm 7 W PR T (e - av), (x - a) 5o e
T— [CDS 2020]
(A)every positive integer value of n/ TR =yl HET
n % fom

(B) Only for every posilive even number/ 35 TeF
TH FTYE W@ n % T

(C) Only for every odd number/% @ v &
YU F

(D) Only for every prime no. n /3 Feioh ST HE2T

n % forg

7777..... 56 digils, when Lhis number is divided by

19, find remainder.

7777...... 56 379, AfE 50w 19§ formfaa o s

ql 2R s |

(A1 (BY18

C)2 (Dy15

One of Lhe faclors of (8% + 3°) where k is an odd

number s

(82 + 52 ol Hi=ET T UGS , Sral k faue wemn g
[CGL Mains 2018]
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Mother's » Number System (Part-9)

49,

50.

51.

52,

S53.

(A)86
(C) 84

|

Find Remainder/ I Farsii— [CDS 2019]

(B) 88
(D)8Y

(A1 (B)3
A7 D)9
44444 22 digit/ 3% + 23 find remain-
der /¥Twa AT —
(A) O (B) 1
() 2 (D) 21
1 2 ) 10
107+ 107 +10° +........ 10 Find remainder/
WTFe A —
(A) O (B) 1
(C) 4 (D) 2
377377 98 (digits) it is divided by 13 then

find the remainder ?

377377

2 —
(A) 10
(C)0

6666 .........
remainder ?

6666 ...

O8( &%) T A 13 T I T 9W ==

(B) 7
(D) 11

(45 digit) divided by 23 then find

(45 1) = 23 F 971 T T I T4
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Solution

B 2
(A) 0 (B)6
(C) 12 (D)7

3 9 -7 4
1. (A) 553 + 378859 + 4768 + 59379
235
=3+9-7+4=90
+5+7+10-11-7 4
2.(C) F3+FOHFB+E7+197= — =4
E=ws 34

4 2 -1 ]
158 x 68 x 197 x 819

o
9.7)
D R=2xIx(-1)x1x(-2)x1x1=4

. Actual rem. -4 x9 x7 252

+5+7+10-11-7
8. (A FI+FH+FEHET+H197

FF
_350><77_10><9_
34 34
9, (D) 13790 x 06x006- = _—~ =gq
100 100

3. (B)
11
=4 x2x(-1)x5
=40+ 44 =4
+1 +4  +5 +7 +1
4. (D) 1548+1561+1662+1664 = 4235 =4
17 17
(33 % 135 136 « | 14
5. (D) 32 x 135 x 136 x 138 x 142
137
=-50+ 137 =87
_a -2 4 8
6. (C) 816 x 817 x 823 x 827 - 192
819
1 -2 1 h
2 1 -1 11x13=571 346
7. B 0367 x 8641 x 2009 » 5757t x 34+
e
a5

74
10. (B) 596 x 17394 x 15353 x 296 x 427
25
-4 -6 +3 -1  +2
SOGx 17304 x 15353 x F4x-427
25
~144 —(-6)
R ] +6
25 25
Actual Remainder =6 x 4 = 24
11. (C) 2 _8) _9-1) _ -lor+8
9 9 9
306 2]
12.(D) ( )
4x7
(306)" 306
7 = i 2(R)
(306)"" 306
= = T 5(R)
A>4-2=2
A=>7-5=2

Required Answer = 28 - 2 = 26

7" (2401)° (2400 +1)"°

13. = = =1(R)
400 400 400
14. (Q) 471" (472 -7 .
) 118 118
15 D 324\'\ _3'240 Xs"i _ (2_"_1]'2’10 _
- P 5™ oxa - 2
Actual Remainder =1 x 3% = 27
16 D 5500 3 5’107 % 5"5 _(4 + 1)’1‘3'? _
- P 5sa” axs a4
. Actual Remaider = 5% x 1 = 125
1433
L& f-, 1
17. (127 _12° 12 12
7 7 7 7
14141
144 165
18. So,(A) 4537 :453 cycle Comlete
1
Means Remainder = 1
111
9. 2 _9% 9 729 _,
13 13 13 13
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Mother's » Number System (Part-9)

440

~ (551)* 551x551
551’14'1: 12 = 12
20. | -

A B T 12
Dj Totlent of 97 =96
G

11 3 -0 13 Ty
[ } _ 13 13% (Remainder)

97 97 97
3].[_1].
22.(B) <11
3101 33 243
= 7T TR
SIOI 3|
-2 =-2-3R)
11 11

N N
= 17 =3(R), —=5(R)

N = 14, 25, 36, 47

47
When n —=5(R)

7
- Answer = 47
719}
23.(D) !
11x13
719 1400 719 140
G BT ) Iy
11 13
.. Required Answer =4
T50x3% 4% x3™
24.(D =
(D) 4x17 17
¢ (17)=16
449 50 ,
16 16 = %3 _,
17 17
accurate remainder = 2 x 4 =8
QIOl'J
5. (D
25. (D) 101
S (101)=101-1= 100
E
Remainder = e

T L(R)

74—8]_ 7481 74—80
868 7x24 124

26. (A)

i ]

1 30
-_ _X_—
¢(124) =124 x X —==60

. Required remainder =7 x 1 =7

11x11

2 1].[)3
24

27.(D)

1 2
b(24) =24 % 5x = =8

21" x 21° 21” -27

24 24 28 T2lR
18 _]_ A _1 BVET)
18 10
29. [B) 3355'{30
77
11«7
B0 i1
B 1 Akl 5]
3350 33510 (), 3357 _335° | o
11 11 7 7
ﬁﬁsé{jf}
o =1(R)
30. (B) o111
323
VAN
17 19
1441 &
214—4-1 2 |f) 21441 2 18
= =2 Ry = =2(R)
17 17
il
" 323 2
210{3'2
1. (A
3 (A) 1317
21‘352 Qt.ﬂ 2
o 22 2R 21 Ry
13 13 13
2174
{ e :12(R)]A=’13—12=1
2177 21% _ 441 _16(R
17 17 17 )
21902
=16
17
A=17-1T6=1
.. Required remainder =221-1=220
f|6 -1 J80 f|6 3 GED 3.4.‘:';% »-;58%
32. (A) (3 37777+ (36 4+ 3) N
36 36
20 [18+2] _
BO =" |2®
200 2x2
6~ 6 B
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Mother's * Number System (Part-9)

20°  2x2x2
6 6
204_2><2><2x2
6 6

20°  2°

=5 =2(®

= 2(R)

=4 (R)

2x224+4x22

c =0(R)

Total sum =
=2 1
§'s Lolienl = § x E =4
512

9312 ()T
8§ 8
1+1+1+1+....1000 B 1000

8 8

TP +11F + 110 4., (111.......digit)}

M. (A)

=1(R)

35. (B)

77 (sumof digit)

X49><50><99
6x0

49x49x25x11
3

1x1x1x2
f_Q

P-1

49

36. (C)
37. (C)

|_1=1 |_=2 |_3=6 |_4=24 5 =120

 1+2+6
12

= (P-1) or (-1) Remainder

E

16
38. (D) Willison Theorem % = 16(R)

16 x 15% |14
> ———=16(R)
17
=-1x=-2x(x)=16(R)
16
X= =8

39. (A) Willison Theorem ———=

40!
41~ 4OR)
40x 391

ERPTEE

40 x x=40

x=1

100- 10

D —— ——=100-10=90

41. (A)

44,

45,

46.

47,
48,

©

B)

(A)

(A)
(D)

101 101

434

42 42
Al 441

6 6

x+1=0

x=-1

a-1y + b{-1)*+3(-NH+5=0

-a+bh+2=0

a-b=2 )

=x-1=0

x=1

a(ly +b(1¥+3(1)+5=0

atb+3=0

a+tbh=-8 2}

—8+2
5

—8-2

b=

x+2=0

xt=-2

= x"+ 52+ 10k

= -2x - 10+ 10k = -2x

10k =10

k=1

at+ ‘bn

Whenn — odd, is complele dividebya+b

= 29417 = 46 is complele divide this number.

a= =-3

=5

5 2 (R 77 1R
K—QOdd

2K— Even

Putk =1
B2+53i=61+25=89
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Mother's » Number System (Part-9)

Bl -
32 L yadl
o F) BT
8
4{10* -1)
50. (A) = 0(R)
9% 23
10'
51.(C) —=4
6
10
=4
105
10 _,
6
4x10 o
= 4(R)

37
52.(D) 15 =11
53. (B)
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